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Sno Question
In a circuit a 33 ohm resistor carries a current of 2 A. The voltage across the resistor
is
T&F Hihe & T 33Q JFUYF & 2 A T ORI JaTed sl 8 Waad $ IR
el Y
1
A 7 . A Correct
Option A Option B Option C Option D AnEvier
English|33 V 80 V 66 V 132 V c
Hindi (33 V 80 V 66 V 132 V
Which of the following is most effective method of artificial respiration
AT A @ B qT HEAA HAT BN GIG FHTEAT DT 29
. . . . Correct
Option A Option B Option C Option D Answer
2 Mouth to
English moutr_\ air Tp use bicycle Both A & B None of the
pumping air pump above
method A
€ § I qF [WIEied T P
Hindi |9 97 &< |47 HT_3TANT |a HT b &r=i ﬁ—%a—éﬁa
Fr ey F @ o
In a brush less alternator both AC&DC winding are in
FAAT FeeT-ied A AC 3T DC =T TSI T Y &t 2
. . . . Correct
3 Option A Option B Option C Option D Answer
English |stator rotor either a or b neither a or b .
Hindi |¥2eT e Frar g ar § |FHrs o




Bio gas depends on

T AT T T LT o
. . . . Correct
Option A Option B Option C Option D Answer
.1 | Electrical None of the
English energy Waste products |Both A and B above .
Hindi |Rgdg s |smfie oo (@ ST (b) mﬁféa—g Al
The characteristic of an electrical circuit that opposes current flow is
Taga &7 &7 oy F3 aTet fagd e Sl faQwar 2l
. . . . Correct
Option A Option B Option C Option D Answer
English |resistance voltage Friction Power a
Hindi |W{qarer Frees gy qral
Unit of resistance is
YT 6T T8 2l
. . . . Correct
Option A Option B Option C Option D Answer
English |Ampere Volt Watt Ohm q
Hindi [IfF9aT Fice Jic 3

Size of V belt used for driving 110V, 18, 22.5KW AC coach Alternators

110V, 18, 22.5KW AC FIF Heed=ed Folld & ToId Tgth V 9o & HHR 2l
z 3 g ] Correct
Option A Option B Option C Option D Answer
English|C122 Ccns C124 None
3 a
Hindi |C122 C118 C124 HIg T
Current is
FIC 2l
. . . . Correct
Option A Option B Option C Option D Answer
. . |Rate of flow |[Gradual change |Linear change |[None of the
English . . . .
of charge in resistance in capacitance |above. .
indi |aTS TS H AT H AFS |3UUH H I
Hindi HATE S e gieadeT |[urad FIg G

which tool is used to cut the copper pipe for ac application

T T % [T HU IET F FeA ® o G g T ITART THAr e e

. . . . Correct
Option A Option B Option C Option D Answer
English|hammer Blade pipe cutter None a
Hindi [8¥3T =I5 T T HIE A6




Capaciiy of alternator provided in 1.HB power car is....

1.7 T ST A7 2T 31T steetaet & &dH T ©....

. . . . Correct
10 Option A Option B Option C Option D Answer
English|400 KVA 500 KVA 600 KVA 250 KVA b
Hindi (400 KVA 500 KVA 600 KVA 250 KVA
One HP =
T& T =
. . . . Correct
11 Option A Option B Option C Option D Answer
English|746 watts 756 watts 860 watts 856 watts A
Hindi |746 9TC 756 dIC 860 dTC 856 dlc
Which is the main feeder contactor for feeder 29
WS 2 & oI BT HIST Sieeaed i T 27
. . . { Correct
1 Option A Option B Option C Option D Answer
/ None of the
English|K 01 K 02 Both A & B e R
Hindi |K O1 K 02 A 3T B T ﬁa g Ea_a”-} |

The capacity of evaporator fan motor used in RMPU AC Coach

FITAGY T ST H TEAATA Bl el FAURET Dol AT Dl FAA Bl 2

z 3 g ! Correct
13 Option A Option B Option C Option D Answer
English|1.5 HP 0.5 HP 2.5 HP None
3 a
Hindi 1.5 HP 0.5 HP 2.5 HP HIg Tl
The capacity WRA motor RMPU AC Coaches is
SYCHARY AT FRTAUY THT HIe HI FHA Bl 2
. . . . Correct
" Option A Option B Option C Option D Answer
English E\TI\? W& 500W 200W 400W
a
Hindi |2/ W7 0.37 500w 200W 400W
How many vane relays are available in LHB AC coach
IS T &g & fhaa a9 W suersy €9
. . . . Correct
15 Option A Option B Option C Option D Answer
English|One Two Four None b
Hindi |T% ) IR HIE AET




checking of tension of V belts after fitment is done by

Tthe 13 & 91 o Yo B TAT HT A ---- RT ST ST 2l

. . . . Correct
16 Option A Option B Option C Option D Answer
English| NOGO gauge |go gauge Tension gauge |None
C
Hindi [Trorhal 39 (a1 a9 [remaaw SR |
Current taken by one condenser fan motor of RMPU of AC coach is
T B & FALHAGY B T ST Thel AlCT G [T AT FL BT ©
. . . . Correct
17 Option A Option B Option C Option D Answer
English|8.25+25% 2.6x10% 2.2+10% None c
Hindi |8.25+25% 2.6+£10% 2.2410% HIg A6l
Current taken by one evaporator fan motor of RMPU coache
! B ® FREAUY D TH §9URET el AGT G Tl I1AT B eI 2l
. : . . Correct
18 Option A Option B Option C Option D Answer
English|8.25+25% 2.6+x10% 2.2+x10% None b
Hindi |8.25+25% 2.6+£10% 2.2+10% HIg A6l
Contactor K1 and K2, are for what purpose in LHB AC coach
FiredeT K1 AT K2, TIATIET T Fe 7 67 F1F & fog 71a 2
. . . d Correct
10 Option A Option B Option C Option D Answer
., |for feeder
English 1 mn for local supply [transformer None
a
Hindi ﬁqﬁgi T 3 ?ﬁﬁl” T | iy FTE &
Inverters Convert
TG # Heac BIaT 2
; . . . Correct
20 Option A Option B Option C Option D Answer
English|AC into DC DC intoAC Both (a) & (b) [None b
Hindi [T 3T ST a v Q= HIg el
Air delivery of fan can be measured by
@ T A T HY @ HUT ST Hehel &l
. . . . Correct
21 Option A Option B Option C Option D Answer
English|anemometer |ammeter lux meter none A
Hindi |[Taees  |[ufemes AT HIET HIE TET




415 V 3 Phase AC supply required for operating motors of RMPU is fed from

415 7 3 Tl THT & YA SRTHAUY & FHRIST Aed & ToIg SaTs o

. . . . Correct
- Option A Option B Option C Option D Answer
. 1|25 KW ,
English Alternator 25 KVA inverter |Both None .
. 1. |25 KW . : ;
Hindi [y oo 25 KVA inverter |31 HIg A6l
Low power factor
FH qh FF, 2l
. . . . Correct
Option A Option B Option C Option D Answer
Aids the Increase the Decrease the
23 English |voltage voltage voltage :ggfec’f the
regulation regulation regulation
qeesT B
R & | e
Hindi |qer ! o IElBRCO) ATegdT HH  |SULH THT
= Erigll HLAT
No of inverters required for one RMPU AC coach are
T FRTAUY QT B & o ETS TAaCL ol Tl K]
. . " . Correct
24 Option A Option B Option C Option D Answer
English|Two One Three Four .
Hindi |7 Th e 1K
The substances which have a large number of free electrons and offer a low
resistance are called
T URTY # 93t G647 H Hh oA agie 8id & 3 HH AAUY Y& Hd
2, FHeATd ol
25 Correct
Option A Option B Option C Option D Answer
English |insulators inductors semi-conductors |conductors b
Hindi |3gaieT HIFCT JHmsFCd (BT
What is the rating Battery fuse used in LHB AC Coach
TATHST THT BT H [5G AT & e T HT SEdAT erarl 2l
. . . . Correct
26 Option A Option B Option C Option D Answer
English | 100A 32A 40A 63A b
Hindi [100A 32A 40A 63A




To improve the power factor, capacitors are connected in the circuit as

ey hared &l 98d 91 & (o] DUTIST Hl gide & T ITar 2
. . . . Correct
- Option A Option B Option C Option D Answer
. . None of the
English|Parallel path |Series path Any of a & b above
- : A
Hindi |[@oTeial 9y |8 uy S)ﬁﬁ (b) 3 mﬁfgag Al
What is considered as the heart of rectifier cum regulator
. . . . Correct
28 Option A Option B Option C Option D Answer
. 1. |Current . .
English transformer bridge diode MA none of above )
Hindi |$ic gE@®RR [ sis THT ﬁaf ?ré’rﬁ |
How many ZS couplers having per coach
T ®1F fFaa 25 U 2
7 . . . Correct
2 Option A Option B Option C Option D e or
. » |Two male and |Four male and |Four male and
Exgles Two female four female four female Ndnhe .
Hindi gaﬁa?h :thﬂ%?ﬁ? @ﬂﬁ?ﬁ? TS T
Required fresh air for AC RMPU coach is collected from roof Is sent to evaporator
through
T Fg B [T HAGITS NI BT B B & THEAT HR TaUReT B
e & # AT 1T B
. . . . Correct
30 Option A Option B Option C Option D Answer
., |Fresh air Return air Both (a) and
English g ors filters (b) L .
.. | AT Nes T - :
Hindi = ReeeT Qo HIs el
In which method the battery is charged at low current for long period?
T Y d < F F7 g0 W o« 3@y $ org =@ e Srar g
. . . . Correct
31 Option A Option B Option C Option D Answer
. - Constant .
English |Initial charge current Boost charge Trickle charge d
Hindi [SMQTS I |Hiedee P (& = e =




32

Instrument connected in the circuit with the ammeter (in panel) to facilitate the
measurement of current is

IS I AT BT T & [T 3URIT HI THET (A9 H) &
Ty # ST T B
. . . . Correct
Option A Option B Option C Option D Answer
. 1 |Current Potential Excitation None of the
English
transformer transformer transformer above A
Hindi |FC HWOEAT e AT e a'e;? @

. . ! . Correct
33 Option A Option B Option C Option D Answer
._1 | miniature . . mains
English pump Motor protection|main primp protection
b
Hindi [T 99 AT It gw HEY JI&m
Instrument used for measuring the voltage across a circuit is
T Gihe & dlecsl HT AT & o ITANET (AT AT STl 3YHI 2
z . A ' Correct
34 Option A Option B Option C Option D Answer
English | Ammeter voltmeter Thermometer None above
1 B
Hindi |TFHT AeeHICT uHTAET mﬁﬁag J
Capacitance is expressed in
T, # =T T T B
. ) : . Correct
35 Option A Option B Option C Option D Answer
English|Ampere Volt Watt coulomb c
Hindi |TF4EY e ElS HAF
Which of the following is not a non-conventional energy source
Forerieied # @ el W -G Sl A w61 29
. . . . Correct
36 Option A Option B Option C Option D Answer
English|Solar Wind Bio gas Electricity b
Hindi [T L]l T A9 IEEE




Differential relay protects transformer front faults

TRifTe RS gEEET & e W @ J91aT ®

. . . . Correct
37 Option A Option B Option C Option D Answer
English |external internal either of a or b Eelther of a or b
Hindi |98 HANE rar g ar 8 [Hrg 6T
The induction motors used in RMPU are
FCHAAG H Ugh 25FqT AleH BT #
. . . . Correct
18 Option A Option B Option C Option D Answer
. 1 |Three phase |Single phase Two phase
English motors motors motors BOIE .
Hindi %TJ:{H szl - 3T IO AT |[FIS AT
The pressure at the inlet of a refrigerant compressor is called
IMFSRE FITI B Tode UL 99 F T WAl B
: . . : Correct
39 Option A Option B Option C Option D Answer
.1 |Suction Discharge g
English pressure pressure Critical pressure [Back pressure .
Hindi [ o9 |F9e« 9@ |[Aecaqu g9 3% 99
Which of the following are principal safety precautions
TAFaleiEd # @ @i O JHE L& qroeii=ar o
. . . . Correct
Option A Option B Option C Option D Answer
Don’t touch Before switching
live wire or on supply see [Use rubber All of the
40 |English|equipment no one is gloves and A
with bare working in the |meeting. ’
hands line D
: : qTATE_ATe
%ﬁagigw FR @ UER W & W
Hindi | greoo o 3G o 76 o5 [P Ea= T |3udIes 9
= A FIE FH Q@ Gy
R A FT TET
What is input supply of microprocessor in LHB AC coach
TS Tl B A ATSHIIIGGT DT TGS ToalTs F4T Blal o
. . . . Correct
41 Option A Option B Option C Option D Answer
English 110V Ac 110V DC 230V AC 415V AC b
Hindi [110V Ac 110V DC 230V AC 415V AC




Three resistances of 10 ohms, 15 ohms and 30 ohms are connected in parallel. The
total resistance of the combination is

10 3, 15 A 3T 30 A & e FAUYT FATAGL A IS §L 8| TS P H/A
Tl BT

42
. . . . Correct
Option A Option B Option C Option D Answer
English|5 ohms 15 ohms 10 ohms 55 ohms A
Hindi |5 3 15 3H 10 3H 55 3
Contactor K41 and K42 are for what purpose in LHB AC coach
TATTS! T g 7 Fiveaed 41 AT 42 59 &7 % g 21 2
. . . . Correct
i3 Option A Option B Option C Option D Answer
., |for feeder
English selection for local supply [transformer None .
Hindi ﬁvdigi kG ; "'ﬁq'” gafe AR FIE A&
Alternator is a device that converts
FeeTHeT T 3UBIT & oI giREdsT HLar B
7 . . . Correct
Option A Option B Option C Option D e or
a Mechanical Electrical Chemical
Enalish | M€Y into energy into energy into None of the
g electrical mechanical electrical above
energy energy energy A
IE Sl SR, CIRIGEAET ) =X "
Hindi ?%‘gaaﬁﬁ - ﬁﬁ% ?%‘gaau—uﬁ ﬁ'%a'éfa
Nichrome wire is an alloy of
TorenreT &1 A &1 T @
. i . . Correct
.5 Option A Option B Option C Option D Answer
. . chromium and |nickel and copper and
English lead angdi2inc vanadium chromium silver c
Hindi | Gy FRTA EQIEaC T S AT
The transformer ratings are usually expressed in terms of
TR P ST AT U hdsd TIH & o9 Hl ST ol
. . . . Correct
46 Option A Option B Option C Option D Answer
English |Volts Amperes kW kVA d
Hindi |Ticc MESELY kW KVA




47

No. of Three phase 3 KW heaters required for one RMPU unit is

%WW@ & ToIT smaxg® A= =0 3 TharEe el o g&dn
|

. ] . . Correct
Option A Option B Option C Option D Answer

English |1 2 3 4 b

Hindi |1 2 3 4

Voltage and resistance in an electrical circuit are related by Ohm's law and determine

e fog

éﬁﬁ%ﬁﬁﬂ%%ﬁﬁ@ﬁ%ﬁ%?ﬁ?

g Toeiia
. . . . Correct
48 Option A Option B Option C Option D Answer
. The type of :
English|Current circuit Voltage Resistance A
Hindi |$c gidhe &7 Y& [deed PIGELCS
PSI is the unit of--
FrqaaTs B FHS B
: . . . Correct
49 Option A Option B Option C Option D Answer
English |Pressure Humidity Temperature Velocity of gas .
Hindi |99 g dr ATIATT I FT1 99T

50

The rating of fuse in the 25 KVA Inverter input circuit of SG AC coaches is

THST TH FET P 25 DAY AL TAYC AIHe A T HY W B

g ] 7 i Correct
Option A Option B Option C Option D L .
English|200 amps 250 amps 315 amps 500 amps b
Hindi [200 amps 250 amps 315 amps 500 amps

51

name the method to be used to find out earth leakage

YAl & AT T Ual @ & ToT SYAFT Hl ST aTell ToTe H 17 Ja15

Option A Option B Option C Option D ngf:rt-
Fnalish Double test tong tester multi meter voltmeter
g lamp method |method method method
39 SEC AT ST TURAH FAET HITT 2
Hindi |Sc < JrecHe fate




Capacity of WRA mono block pump in RMPU coaches

FATAGR AT A SGHRY AT selich Gq HY &HHAT grar Bl
. . . . Correct
Option A Option B Option C Option D Answer
52 0.5 HP/0.37 |1.0HP/0.746
English|[KW at 415 V |KW at 415 V ;.t54|:5P/V1.510KI\-1VZ None
50 Hz 50HZ .
0.5 HP/0.37 1.0HP/0.746
Hindi |KW at 415 V |KW at 415 V ;E54F1|5P/V1.510Kk\1vz FIE AR
50 Hz 50HZ
Unit of energy is
ST BT THTR 2l
. . ! . Correct
Option A Option B Option C Option D Answer
53
English |Kilo volt hours |Kilo watt hours |Kilo watt gggseof L
s B
.. | el Tiee : EXEG )
Hindi |gor rer ac 92 |fopelr a1 e wE
The capacity of battery is expressed in terms of
Fe T FHAAT T [hdP TT & sTh THAT AT 29
z . : ' Correct
54 Option A Option B Option C Option D Answer
English|Current rating |AH rating Voltage rating |VH rating B
Hindi |$ic T |ugw I oo eSor | W
Both field winding and 3 phase winding of AC coach alternator 120V are provided on
Q@r T8 3TeeTAeT 120V T IHies STEiST AT 3 B aTSiSel &+ U< U&T
aﬁr 2l
35 . . . . Correct
Option A Option B Option C Option D Answer
English |Stator Rotor Both a and b |None
. A
Hindi |€2¢T T %ﬁ? ® g =t

56

The capacity of HRC fuses to be provided for 415V 3phase supply of pre-cooling
battery charger of RMPU AC coach is.

m@m%ﬁw«u e am<§415V3Gﬁ3}Tﬁ?ﬁﬁQW%¢

ST TS T T
. . . . Correct
Option A Option B Option C Option D Answer
English|63A 160A 400A None
: a
Hindi |63A 160A 400A HIg el




Which of the following is not a type of generating station?

T ET & @ ST 97 T TP FT 3cUTET TSqT el &9

57 Option A Option B Option C Option D Xg?;::
English | Thermal Nuclear Hydro Atmospheric
Hindi |99 G FATT ey THASAT P
The units of capacitance are
TTT & Threaqr Bl B
58 Option A Option B Option C Option D gz:l;\?;:
English |volts/coulomb |coulombs/volt |ohms henry/Wb
Hindi |dec/HAds |Fees/dlee | 3H B/ Wb "
what is rating of DG sets in power cars
AT HRT A SISl e Hr AT F97 Tl 29
59 Option A Option B Option C Option D gg:l‘:::
English|250kva 500kva 125kva 750kva b
Hindi |250kva 500kva 125kva 750kva
If vane relays are defective in RMPU coach the results will
Tid FRGAIG B # o Nl AT © dl 3ADHT IO IR
Option A Option B Option C Option D gggf::
60
switch ON d
Hindi %@? ?W“ﬁ ggwaﬁr IR Tl
relay indicates the temperature rise of a transformer.
T QAHRAT & AT & gig HT 3[@1d HLT 2
61 Option A Option B Option C Option D les«:sg:
English |EFR OVR OLR Thermal relay
Hindi |SUHIR A3 HTAHR IH S et P
One ton of refrigeration is equal to
T&F < gafiaeT & qe 2l
62 Option A Option B Option C Option D Xg?;::
English|6000 Btu/ hr [12000 Btu/ hr [2000 Btu/ hr |None.
Hindi (6000 Btu/ hr [12000 Btu/ hr |2000 Btu/ hr |&Tg <&l A




The quantity of heat required to change 1 kg of the substance from liquid to vapour
state without change of temperature is termed as

TUATT & URad= (6T 97 1 TFNIE 91 &7 did @ 957 ALY # 98d &

FIITH SSAT Sl HATAT B, FTT 1T &
. . . . Correct
63 Option A Option B Option C Option D Answer
., |Latent heat of |Latent heat of . .
English fusion vaporization Heat capacity |Sensible heat .
o |FgSE BT [STSHrer @y
Hindi | 5= s T AT T FHAT |TT&T S
What is responsible for the current to flow?
FAATH YATE P oI FAT TWFRTE 29
. . y . Correct
61 Option A Option B Option C Option D Answer
. Protons and
English |Protons Electrons Nucleus Ty .
Hindi |Wiei= Tl R m; Sy
Lagging power factor of an inductive load is improved by providing
T WU A & TRITHT Ak U6 HI &1 I JURT Ial ©
: . - . Correct
65 Option A Option B Option C Option D Answer
English |capacitor choke resistor lamp .
Hindi | ITAT =T IO R
In a refrigeration system, the expansion device is connected between the
T Wheryw Rees #, qerauas Sarsg fvgs $=r 1 eiar 2
. . A . Correct
o Option A Option B Option C Option D Answer
., |Compressor Condenser and |Receiver and Evaporator and
English 1
and condenser |receiver evaporator compressor c
Hindi |TI9 3T (PSR X |[@ SR S IERCEX)




Switching of a lamp in house produces noise in the radio. This is because switching
operation produces

T H o7 Joma @ W A N Icu=A Biar 2 YT SHIAT © Tl LAl

= T 3cq= BIdT ol
. . . . Correct
Option A Option B Option C Option D Answer
67 Both
Arcs across Mechanical mechanical
English |separating noise of high noise and arc glgg\(leeof the
contacts intensity between
contacts A
. |FAI-FAT (IS G BT Ws-i 4 TH § Hls
Hindi Lo i3 N AT oy 7Y
LP cut oout of RMPU coach shall be set at
FITHAATY, B & TAU B H3C, T ¥ Torgr SrEm
. . " g Correct
68 Option A Option B Option C Option D Answer
English|{135 £ 2 PSI 415 = 2 PSI 35 £ 2 PSI None c
Hindi [135 £ 2 PSI [415 = 2 PSI |35 % 2 PSI Hrs A6
The capacitance between two plates increases with
Tl TSl & 99 UYTRA 9¢ Jr ©, 99, Bl B
2 . . . Correct
Option A Option B Option C Option D Answer
larger plate
shorter plate [shorter plate gir:tz,nlcznger Iaarregaerar;])(ljate
69 English ata and ) red andl between plates |shorter
higher applied [shorter distance L Histance
voltage Detwee thefn higher,applied |between plates |p
voltage
T W BT [T R BT | S % |aEr @ A
Hindi |31 39 oF] |31 39 &9 WW%, ésﬂ;{r@é‘r%
e il S o g A
The moisture in AC systems causes
T REeH # FHT BT BRI T 2
. . . . Correct
70 Option A Option B Option C Option D Answer
English|Sludge Amalgam Freeze-up All the above b
Hindi | FHITH RIS 31 3ULTh AT




Which of the following is not a vector ?

@T | T FI9 91 a5 987 89

. . . . Correct
71 Option A Option B Option C Option D Answer
.1 |Linear Angular I Electric
English momentum momentum Electric field potential B
Hindi 3@ G371 |9100G Ga1__|gd &9 |Toge e
One volt is the same as
T dlec F THA B
. . . . Correct
77 Option A Option B Option C Option D Answer
. 1. |one one .
English joule/coulomb |coulomb/joule paycqplonb 13 G A
Hindi |U% S[/RAH |TH HAH/SA [T HAH Th

One ordinary ceiling fan works for 12 hrs in a day, electric charges per day @ Rs. 2/-

per unit

will be

T TR WoRT B T 8T & 12 9 oA #, e fafest . 2/- wia
— 1 Rl

73 7 . . . Correct
Option A Option B Option C Option D e or
English|0.72 1.44 0.8 None
IULH B
Hindi (0.72 1.44 0.8 ﬁ'%?rég?@
Which of the following tests should be done before connecting a wiring to the main
line
TdY AT &t BT a5 4 Si5a 4 Ued [WFaioiad # § Sie d1 ga&or e
ST ?
74 . ) : . Correct
Option A Option B Option C Option D Answer
English|IR test Continuity test |Polarity test Any above
. A
Hindi fﬁgg Toraear adeor |gear TET S @l
EMF is expressed in
STHTH # sgeh TopaT IT B
. . : . Correct
75 Option A Option B Option C Option D Answer
English |Ampere Volt Watt Ohm b
Hindi |TFURIT e qe 3




76

Two resistances Rl and Ri are connected in series across the voltage source where
RI>Ri. The largest drop will be across

T Al Rl 31T Ri A & & U IS A S T © FeT RI>Ri, G998 T8

CIESSEL
. . . . Correct
Option A Option B Option C Option D Answer
English|RI either Rl or Ri [Ri None of them
IUIE H A
Hindi |R gr ar Rl AT Ri |Ri e a—e;? Al

The total amount of harmonics present in the system is expressed using

REeH & ANE AT @l FHel A T ITINET FHIH Th DI Sl Bl

. . . . Correct
Option A Option B Option C Option D Answer
77
Total . i
English |Harmonic T9ta| I-_Iarmonlc T°t‘f’| wonRIc Crest Factor
Distortion Ratio
Factor B
.. |BA BHIN® |Sled SIS | R SHIAD
)
Hindi | gz Reer= ST FEC HRA
With rise in temperature the resistance of pure metals
AT qgw UL Y& GG &1 Ty SICIR
z . A ' Correct
Option A Option B Option C Option D Answer
78 First increases ,
English |Increases Decreases and then Remal
d constant
ecreases 1\
e Sedl ®
Hindi |[92dr ® FHH BT ST © %ﬂf{ﬁww YT Ear ©

79

Which of the following material has nearly zero temperature co-efficient of resistance?

TorafaiEd # & g el & ST o AT Tiady Jone o

. . . . Correct
Option A Option B Option C Option D Answer
English|Manganin Porcelain Carbon Copper
. G IR (XAl $ A
Hindi |[HaT{esT s P s HIIT

80

The hot resistance of the bulb’s filament is higher than its cold resistance because the
temperature co-efficient of the filament is

T & e &1 I3 YIae T9@ 33 Wiy @ 3AME & Fhih haHe &

ATqHATT IO B

Option A Option B Option C Option D gggf::
English|Zero Positive Negative Ste)?liiteSr ggms B
Hindi |9 THAHAS [ ABHHD m e
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Amperes drawn by three phase motor are equal to

e el HAICT EIT &l 375 TFIT & FLEL Bl ol
Option A Option B Option C Option D Xg?;::
Efficiency x  |HP x 746 x  |Efficiency x | F X
English|Volts x pf / |volts/(Efficiency |pf/(volt x HP x ;45(:|é§f2c'in;y
(HP x 746) | pf) 746) P
1.73)
D
Efficiency x HP x 746 x Efficiency x ?26)/((Efficienc
Hindi |Volts x pf / |volts/(Efficiency |pf/(volt x HP x | "0 & XV
(HP x 746)  |x pf) 746) P

1.73)

82

As per the present Tariff the minimum power factor of sub-station should be

FAATT SN T FIAR FI-TCUA BT 7dATH T e REIRCII
. . . ; Correct
Option A Option B Option C Option D Answer
English|0.8 0.85 0.9 0.95 c
Hindi (0.8 0.85 0.9 0.95

Three resistance 4”, 6” an
the Voltage drop acrosss 4

ﬁ 12ll are connected in series across 22v battery. What is
?

et wfarer 4ll, 6ll 3T 12l 22v 32&r # o= # 2 gu A 4 F AT T T B2

33 . ] ) , Correct
Option A Option B Option C Option D Answer
English |12 v 4v 6v d J b
Hindi (12 v 4V 6V A
NU 311 bearing is
T 311 TSI AT 89
. ] i . Correct
84 Option A Option B Option C Option D Answer
English (Roller bearing |Ball bearing Both A & B None
i . . 3 A
Hindi [Qo@ 3 |aic Rafler (@ T e

85

Both directions of train run, the polarity of Dc output supply of TL/AC alternator

ST T T ZIAT QUMY SITA/THT FeeTAeT Bl ST H3EYe YA el gadr

. . : . Correct
Option A Option B Option C Option D Answer
English|Changes Change at start (Do not change |None C
Hindi |TR&ad= URH § 9t | JAETdd HIS qET




The Freon group of refrigerants are

MFee & W Gofe 2]
. . . . Correct
86 Option A Option B Option C Option D Answer
Enalish Halocarbon Zoetrope Inorganic Hydrocarbon
g refrigerants refrigerants refrigerants refrigerants .
Hindi \36rate ST I | firarie Mraie
The Main function of RBCR used in LHB Coach
"TATIST B A TG FAREHISL T 8T HA K]
. . . . Correct
Option A Option B Option C Option D Answer
87
. 1 |To charge the |To feed Control |To feed supply
English battery supply light and fans ENEERaove
N N YA T d
Hindi Wﬁ N sm'ﬁ AT TATWHT HT |SUIRD AT
WIS HTAT
Laminated core is used to reduce
FT ITGHET AFALT FIT HT ITAET HHF A & [ fFar S 2
; . . . Correct
- Option A Option B Option C Option D AnsNer
. , Eddy current .
English |Hysteresis loss loss Copper loss iron loss
B
Hindi Wi ECTERTE U3l I A9 (HiUT Ad G EE IR
What is the change of resistance value of the conductor as its length is halved?
FIFT D UG Ao A FAT THAA ST & FA(Th TT0 ofare et 8 Sely 29
c ) ; . Correct
50 Option A Option B Option C Option D Answer
English Increases to Increases to 4 |Decreases by Decreases to
9151 double times half 1/4th .
Hind %Jlril B ST (4 T[] O §& | F 9 ATl | ISH 1/4 B
ST ® 2 T B
A nichrome wire used as a heater coil has the resistance of 2 U/m. For a heater of 1
kW at 200 V, the length of wire required will be
€1eT Fied & TY & YT ThY AT a1t A& arX &1 wiare 2 U/m 1 200 v
9T 1 fpetare & fied & oY saegs a & SEl
90
. . . . Correct
Option A Option B Option C Option D Answer
English|{80 m 40 m 60 m 20 m A
Hindi (80 m 40 m 60 m 20 m




91

Electric field intensity is a quantity

g @7 & o & HAT 2
Option A Option B Option C Option D ngve::
English |scalar vector both A.& B. gggse°f the
: B
Hindi |¥he e =t A, 3T B %i ‘;,_grﬁ q

92

The maximum demand of an industry, if trivector motor records 3600 KVA for 15
minutes and 3000 kVA for next 15 minutes over a recording cycle of 30 min is____

Tt 3T Y AFHIH HET, T Srgaged Ae 30 H+e & T o 7 15

e & T 3600 PAT 3T FATH 15 e B [T 3000 FATY NS wTdr 2, ar
___ B
. . : . Correct
Option A Option B Option C Option D Answer
English|{3600 kVA 3000 kVA 3300 kVA 600 kVA c
Hindi (3600 41T  [3000 AT 3300 HAT 600 PAT

System working in manual cooling mode,

RMPU coach, the results will be

blower or vane relays became defective in

ﬁgmaﬁwmﬁwaﬁﬁw FRTAUY e & SATH AT 9 Tt §Y @
|

. . " . Correct
Option A Option B Option C Option D Answer
93 Both
. 1 |Low pressures compressor will [All of the
Englil develops iR trip in 15 above
minutes d
AT HUAT 15
.. |BH g TeAuT 1, Terdr 2 -
Hindi ’ e & 20 =7 [3ues a3f
T ild BT [T STaa
100 kCals expressed as kilojoules would be
100 kCals &Y TN & TT A T (AT JTT
. . . . Correct
924 Option A Option B Option C Option D Answer
English|418.7 k] 4.187 Joules 4.187 K| 41.87 K A
Hindi [418.7 k 4.187 Joules 4.187 K 41.87 kK
If heaters are ON condition, in RMPU then compressor and condensers will be
¢ FARTAUG, A e =1 8, a7 HUAT AT HS AT BN
. . . . Correct
Option A Option B Option C Option D Answer
95 Switches off
English|ON condition |OFF Condition |after 15 None
minutes b
- : 15 fele & 9’ :
Hindi |9¢] FECAT (9% FEUT R S HIE TET
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If system works on manual cooling mode in RMPU then

T REeH FRGAUG # AGHA FHodT AS T HH HIAT © Al

. . . . Correct
Option A Option B Option C Option D Answer
. 2 condenser 2 compressor  |All of the
English Blower works motors works works above q
. .. |SATIX BH  |qT HSATUL B |HIAGL FH
Hindi | e 2 IULH THT

Which among the following rules is applicable to study the direction of rotation of coil
in magnetic field?

DT §F H HzA D FT T F7 FegTa Fa B o A eEd # @ f
mmmgﬁ? R

. . y . Correct
97 Option A Option B Option C Option D Answer
._1 |Right hand Fleming’s left |Fleming’s right
English thumb rule Sl [ hand rule hand rule.
gIfes &Y B : . |wafFTwr |c
Hindi (g & (o w5 if% %;;q =T w1y
IGRC) IGR2E:]
The fleming's left hand rule correlates to
¢ BT FT = T AT B
E . : . Correct
Option A Option B Option C Option D Answer
current, magnetic field, ?nellJidgiiuctlon, current,
induced e.m.f. |electric field i snbnd magnetic field
98 |English|and direction |and direction of diccctioheT and direction
of force on a |force on a force-oh—a of force on a
conductor conductor | M conductor D
o §wwaﬁ1§g§ﬁﬁaﬁ? T TG W, 9T AW,
Hindi | : YEY R U Skl
S e | ELTT gt I &
e d il fam fam
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The 5th and 7th harmonic in a 50 Hz power environment will have:

100

50 BCW UTAY AME@ERY # 58 3 79 SHIH H SELl
. . . . Correct
Option A Option B Option C Option D Answer
Voltage and |Voltage and Voltage and
current current current No voltage and
English |distortions distortions with |distortions with |current
with 55 Hz & |500 Hz & 700 (250 Hz & 350 |distortion at all
57 Hz Hz Hz c
55 ¥ §T 500 BT 3 |250 T @
57 < e S8 & ﬁ'% él@a
it T Bezs G0 TR g 0 T g A
FIIE e Tt [mic Tt e
An insulated copper wire wrapped on rectangular frame of soft iron core is known
as... ...
TIH AR H B D FIAATHR BA T AU T AgaAer @i« & a1l & ... S T
FH AT ST B
: A . . Correct
Option A Option B Option C Option D Answer
. ’ . magnetic
English |toroidal solenoidal armature ot c
Hindi |SRITGS RICCIEEC FHAAT Y BH

Who is the Chairman of the Zonal Official Language Implementation Committee?

WA TSTHTST HATaTT AT B AT HIeT 89

Option A Option B Option C Option D ng;ﬁg:
101 ) Additional Z(;wgrralDeputy Mulkhya General
'R Slzr:\(;;aelr(AGM) Mariagel Egjhbirl::?ih?MRA) REEROCT, (S
(SDGM) D
HUT TS 37 ST T | e
Hindi |FSWEYEH  |ASUSTH ST oS\
(TSTT) (TEENITH)  [(THHARQ)
In which form Rubber Stamps are to be prepared?
3 T AL FdT TT A AR AT 1= 89
Option A Option B Option C Option D ng:::
. Hindi and Regional
102 Engalish E?r?tljliSh—& Regional Hindi & English |Language and
g Bilinqual Form Language - — Bilingual Form|English-
9 Bilingual Form Bilingual form |[c
Hindi |FR& -Tgamedt  |srom- feemsh _Wmﬁlsﬂ?m-
T H 7 H| ot =7 A




In which order Name and Designation Boards kept on conference tables are to be
exhibited?

TFAA A U< Y0 6T ST Tt S T UATH SIST o ShH 4T &9

. . . . Correct
Option A Option B Option C Option D Answer
103 Hindi and Regional .
., |Regional Language and (Hindi & English Epgll_sll&
English . . Hindi
Language - English- Bilingual Form Bilinqual Form
Bilingual Form |Bilingual form g C
& 3w AT 4T AT 8 3 sy [T 31K
Hindi |83 9T91-_ |37 - e %ﬂ?&;wﬁ " - feemh
oo =9 A =7 A =T A
According to Official Languages Rules, Tamilnadu falls under which region?
THTT =gl & SAR, TS (g &@F B Jdald T o
A . . : Correct
Option A Option B Option C Option D Answer
104
. . % . i 2 5 None of the
English|Region C Region B Region "A e \
Hindi |37 &% g a7 % &ﬁsaqu T
When was Official Languages Rules passed?
THET ToTH FT 6T GG a7 T 92
j A . . Correct
105 Option A Option B Option C Option D Answer
English|1976 1987 1960 1963 A
Hindi [1976 1987 1960 1963
What is the minimum percentage of mark to be obtained by a Gazetted Officer, in
Pragya course to become eligible for Personal Pay?
ot aaT & qlal o & ToIT WAl UISTHH & AT YD GRT WA (5T STt
AT AGH TTaLd 3o T 89
. . . . Correct
106 Option A Option B Option C Option D Answer
45% marks in [50% marks in |55% marks in [60% marks in
English |written written written written
examination |examination examination examination D
i |G GO (TG, AR A [ Tad GO 7 | g
H 45% 3®  |50% 3® 55% 3 #H 60% 3®
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Which form of numerals are to be used for official purposes of the Union?

T & LA FHAGN A 3T D f5q =7 &7 3797 5w e 29

. . . . Correct
Option A Option B Option C Option D Answer
. , , International
Eaglish P00 o fom of indin
numerals D
. . . . . ] |
Hindi |99 & |3TST 3F IFANET 377 |[FT IO
L)

108

In which region of the Non-Hindi speaking participants be given ‘Grace Marks’® for
participating in Hindi Essay/Elocution/Noting & Drafting competitions?

& e, Waﬂwﬁwwma@ﬂuﬁﬁﬁwﬁﬁu—wﬁwméﬁn
ﬁﬁ@ﬁi%%ﬁﬂ?m@ruﬁmﬁﬁqum @F A g ST @9

/ ] . | Correct
Option A Option B Option C Option D Answer
. 4 ) o ) o : None of the
English|‘A> Region B* Region C’ Region above. A
Hindi |& & g &l EIRCE | 3&: a—g

109

Which article of the constitution contain provision regarding the Union of India to

promote the spread of the Hindi Language to develop it.?

I & 5T _[e88 | 9 9 & T84l 4N & [F6Rd HL 8q 398 TaR-

Y &I q21ET %ﬁ & ToIq wTaen o9
. P ; ] Correct
Option A Option B Option C Option D Answer
English |Article 343 Article 351 Article 344 Article 346 B
Hindi |3H[®S< 343 |H®S% 351 |3AJoS% 344 |3[=SR 346

110

According to Annual Programme, in which order Advertisement (Tender Notice etc.) of
Central Govt.Offices are to be published in News Papers?

S HEAHA B YR AT AUHR & AT & [aATa (S5 Aled 3R)

oo w7 # TR uqlﬁwﬁ\ﬁr%q\?ﬁﬁ?

. . . . Correct
Option A Option B Option C Option D Answer
Hindi and Regional
Enalish Regional English & Hindi [Hindi & English |Language and
g Language - — Bilingual Form|— Bilingual Form|English-
Bilingual Form Bilingual form |[c
G S gl Ry (R s sy [ ST
Hindi [&31F HT9T- ~ S =7 & _Wmﬁlﬁ*{'m-
st = feumdt =7 #




